Pull of x for PV

Ratio

Pull of y for PV

Ratio

Pull of z for PV

Ratio

14 b T

Pull of x

1.2 1.2

0.8 0.8

0.6 0.6

T
T e
: f&%
N

R ......E......;ﬁ.......... .
ot
FE
T SE

Pull of x for merged vertices
=

S o o S S 1 O Y

0.2f--

e

Ratio
Ratio

0 =15 =10 -5 0 5 10 15 20 B0 =15 -10 =5 0 5 10 15 20 0 -15-10 -5 0 5 10 15 20
Vertex z (cm) Vertex z (cm) Vertex z (cm)

= Rt

|

1.4

Pull ot y

1.2

il

0.8

....................................

0.6

oA
T
%
)
2
&
e g
TRt
A
Pull ot y for merged vertices

TT T[T T T[T T T[T T T[T T T[T T T [TTT[T
.
& ---- .........;..;..—'..:. ....:...... et

0.4

0.2 O2p

favs)

..
— o : :

Ratio
Ratio

'l FEE
Eo L by
S AR T
- L ELETE™ TR B 1 T SO T 1 O L1 A A
=20 -15 -10 -5 O 5 10 15 20 0'9—‘20 -15-10 -5 0 5 10 15 20 =20 -15 -10 -5 O 5 10 15 20
Vertex z (cm) Vertex z (cm) Vertex z (cm)

1.4

Pull of z

=
o]
T

1.2F 5 f: 1.2

=

0.8

0.6f+---} - 0.6

Pull of z for merged vertices
I
D

0.4 0.4

..........................................

0.2F e - f 0.2

R
ceeend]
Y] .ﬁnl | | | | | ;uc""l"" |

08f-

Qferbipy

Ratio
Ratio

1.05f--- 5=k {44 A

| SEEPR 2 I+
: i

0-15-10 -5 0 5 10 15 20 %90 -15 -10 -5 0 5 10 15 20 ¥ -15-10 -5 0 5 10 15 20
Vertex z (cm) Vertex z (cm) Vertex z (cm)

0.95;




	Contents
	Page 1


